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Subject S| CPO Examination 2019

Section : General Intelligence and Reasoning

Q.1 Four letter-cluster have been given out of which three are alike in some manner, while one is
different. Choose the odd one.

Ans  of 1 OQRT
75 2.1KMO
X 3. CEGlI
X 4.TVXzZ

Question ID : 864407727
Status : Answered
Chosen Option: 1

Q2 Select the figure that will come next in the following figure series.

*J

*@ALJ#A@* |S@A# |+/A@S

Ans

X $A@+

X2 |1 A@$

X3 |O@A

v |O@A+

Question ID : 864407759
Status : Answered
Chosen Option: 4
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Q.3 Select the word from the given options that is similar to the given words and hence belong
to the same group.

Squeak : Quack : Cackle
Ans )'(' 1. Speak

v
)'(". 3. Noise

}'(: 4. Sound

Question ID : 864407734
Status : Answered
Chosen Option: 3

Q.4 Which of the option figures is the exact mirror image of the given problem figure when the mirror is held to the right

side of the problem figure?

Problem Figure:

Ans

Question ID : 864407766
Status : Answered
Chosen Option : 2

Q.5 Richa starts walking from her home and walks 50 m towards west and then turns left and
walks 90 m. Then she again turns left and walks 30 m. After that she again turns left and
goes 120 m. She finally turns right and and walks 20 m and reaches her final destination.
How far is she from her home now and in which direction with reference to her home?

Ans ?{ 1. 40 m, North West
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/X 2.30m, South

x 3. 40 m, North East

( 4.30 m, North

Question ID : 864407768
Status : Answered
Chosen Option : 2

Q.6 Select the option that is related to the fourth term in the same way as the first is related to
the second term.

NRGLEDGLLQ : MOTIVATION :: ? : DEMEANOURS
Ans X" 1. WHMHZQLWIV

X 2. WHNIYOLXIV
o 3. WHNHZQLXIV

X 4. WHHNZLQXIV

Question ID : 864407736
Status : Answered
Chosen Option: 3

Q.7 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

Ans
O
' R
X &
O
v2 |o o
O
[
o O
53
1. oL
[ 1
1
X 4 DD DI:I
—1
.

Question ID : 864407767
Status : Answered
Chosen Option : 2

Q.8 Select the option that is related to the third term in the same way as the second term is
related to the first term.
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Bricks : House :: Twigs : ?
Ans x 1. Wood

75 2.Fire
J 3. Nest
x 4. Tree

Question ID : 864407732
Status : Answered
Chosen Option: 1

Q.9 Select the option in which the numbers share the same relationship as that shared by the
given pair of numbers.

72:108
Ans " 1.36:57

X 2.92:153
W 3.84:126
X 4.90:136

Question ID : 864407748
Status : Answered
Chosen Option : 3

Q.10 The two given expressions on either side of the ‘=’ sign will have the same value if two
numbers on either side or on the same side are interchanged. Find from the given option the
correct numbers to be interchanged.

44+46%x2-27+3=8%x2-4+9=+3

Ans X' 16,2
W 2638
53.43
X 42,8

Question ID : 864407755
Status : Answered
Chosen Option : 2

Q.11 In a code language, HONEY is written as G4M2X. How is STATUE written in that language?
Ans X 1 RS1S5D

o 2.Rs1S52

X 3.RS1TSD
X 4.TS1S5D

Question ID : 864407738
Status : Answered
Chosen Option: 1

Q.12 If Y = 50, SEA = 50, then ‘YACHT’ will be equal to?

Ans " 1.100
W 2114
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X 3.102
X 4.104

Question ID : 864407739
Status : Answered
Chosen Option : 2

Q.13 Select the Venn diagram that best represents the relationship between the following classes.

Male, Doctors, Singers

Ans

X

o 4

BROE

Question ID : 864407770
Status : Answered
Chosen Option : 1

Q.14 Which one of the given options would be a logical sequence of the following words?

1. Plant
2. Seed
3. Sprout
4. Tree
5. Sapling

Ans X" 1.2,354,1
W 223514

X 31,5234
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Question ID : 864407726
Status : Answered
Chosen Option : 2

Q.15 The following Venn diagram gives data regarding the sports team of ABC school. The “Circle’ represents ‘Tunior (Under
14 yrs); the *Triangle’ represents ‘Swimmers, the ‘Rectangle’ represents ‘Cyclists and the *Square’ represents ‘Athletes’.
The numbers given in the diagram represents number of persons of that particular category. How many Junior students

are both good Athletes and swimmers but not Cyclists?

Question ID : 864407772
Status : Answered
Chosen Option: 4

Q.16 Select the letter that can replace the question mark (?) in the following series.

EY,U,0,K ?, A

Ans  of 1 E
X 2F
X 3.H
X 4.6

Question ID : 864407723
Status : Answered
Chosen Option: 1

Q.17 Select the option that is related to the fifth number in the same way as the second number
is related to the first number and fourth number is related to third number.

121:145::49:65::169:?

Ans  of' 1 197
25 2.19
X 3.198
25 4.193

Question ID : 864407747
Status : Answered
Chosen Option: 3

Q.18 Select the option that is related to the third term in the same way as the second term is
related to the first term.

7/50:9/82::13/170:?
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Ans X" 1.15/225

X 2.225

X 3.15/224

o 4.15/226

Question ID : 864407746
Status : Not Answered
Chosen Option : --

Q.19 Study the given pattern carefully and select the number that can replace the question mark (?) in it.

12 4 11 33

13 2 6 39

14 7 5 10

18 ? 2 9
Ans X' 1.8

X25

X33

Vi 4

Question ID : 864407754
Status : Not Answered
Chosen Option : --

Q.20 select the option in which the given figure is embedded. (Rotation is NOT allowed)

Ans

x| N
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Question ID : 864407764
Status : Answered
Chosen Option : 2

Q.21 gelect the option that is embedded in the given figure. (Rotation is NOT allowed)

Ans

X 2

Question ID : 864407763
Status : Answered
Chosen Option : 1
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Q.22 Select the option in which the numbers do NOT share the same relationship as that shared
by the given pair of numbers.

(23,115, 207)
Ans  of 1.(8,3572)

X 2.(6,30,54)
75 3.(16,80, 144)
X 4.(21,105,189)

Question ID : 864407753
Status : Not Answered
Chosen Option : --

Q.23 Four words have been given out of which three are alike in some manner, while one is
different. Choose the odd one.

Ans X 1 Rial
X 2. Dollar
/< 3.Lira
W 4 Money

Question ID : 864407729
Status : Answered
Chosen Option : 4

Q.24 IR 21 Ry g &, for=w @ o= foneft avg @ 9w &, S1afeh U ST 81 S1¥Td oht T hi|
Ans  of 1

X 2.

X 3.7

Xagd

Question ID : 864407730
Status : Answered
Chosen Option : 1

Q.25 Four numbers have been given out of which three are alike in some manner, while one is
different. Choose the odd one.

Ans X1 61
X 2.109
K373
o 201

Question ID : 864407750
Status : Answered
Chosen Option : 1

Q.26 Select the option that will fill in the blank and complete the given series.

DXB, GSI, JNP, MIW, ____
Ans X" 1 ODE

/< 2.PDE
o 3.PDD
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X 4.0ED

Question ID : 864407724
Status : Answered
Chosen Option : 3

Q.27 Two statements are given followed by two conclusions | and Il. You have to consider these
statements to be true, even if they seem at variance from commonly known facts. Choose
which of the given conclusions logically follow/s from the given statement.

Statements:

1. All chairs are wood.
1. No wood is furniture.
Conclusions:

1. All chairs are furniture.
1. Some furniture are wood.

Ans x 1. Only conclusion | follows.
X 2. Both conclusions | and Il follows.
x 3. Only conclusion Il follows.

f 4. Neither conclusion | nor Il follows.

Question ID : 864407741
Status : Answered
Chosen Option : 4

Q28 Select the figure that will come next in the following figure series.

=J

@3#() |O@s# #HO@S |SHO@

Ans

X O#S@

X2 |@-#$

X | #$@0

v |@$# O

Question ID : 864407760
Status : Answered
Chosen Option: 4
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Q.29 Select the option in which the words share the same relationship as that shared by the given
pair of words.

Apple : Fruit
Ans x 1. Rose : Red

x 2. Cup : Saucer
i 3. Okra : Vegetable

x 4. State : Assam

Question ID : 864407733
Status : Answered
Chosen Option : 3

Q.30 Select the option that is related to the third term in the same way as the second term is
related to the first term.

INSPIRE : JPVTNXL :: PERSIST: ____
Ans  of 1 QGUWNYA

X 2. QFVWNYA
75 3.QGUWNXZ
X 4.QGUVMYA

Question ID : 864407735
Status : Answered
Chosen Option: 1

Q.31 Four numbers have been given out of which three are alike in some manner, while one is
different. Choose the odd one.

Ans X 1126
X 2,91
X 3.19
W 4160

Question ID : 864407749
Status : Answered
Chosen Option: 1

Q.32 A, B, C, D, E, F, G and H are sitting around a circular table facing towards centre. H is on the
immediate left of A but is not neighbour of D or E. F is on immediate right of B. C is between
E and F, G is neighbour of E. Who is between A and B?

Ans o 1D
X 2.6
X O3F
X 4H

Question ID : 864407769
Status : Not Answered
Chosen Option : --

Q.33 Select the option that will fill in the blank and complete the given series.

35,52, 75,110, 151, __
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Ans  of 1 204
X 2.218
X 3.210

X 4.206

Question ID : 864407745
Status : Not Answered
Chosen Option : --

Q.34 Which of the option figures is the exact mirror image of the given problem figure when the mirror is held to the right
side of the problem figure?

Problem Figure:

Cc479LJYRST

XK et IMABRL
X2 TesSIyJIeThaD

X3 Dc479LIy AT
v o TeAyLICTR2D

Question ID : 864407765
Status : Answered
Chosen Option: 4

Q.35 In the following equation, two signs and two numbers need to be interchanged to make it
correct. Select the appropriate signs and numbers from the given alternatives.

6x8+2=20
Ans X" 1 +andx 2and8

Xz‘xand+,2and6
75 3.xand+,6and2
(4.+and><,6and8

Question ID : 864407757
Status : Answered
Chosen Option : 4

Q.36 If + means —, — means x, x means +, and + means +, then what will be the value of following
expression?

15-2+90x9+10

Ans X132
X 2.50
X 3.40
W 230

Question ID : 864407756
Status : Answered
Chosen Option: 4
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Q.37 Select the Venn diagram that best represents the relationship between the following classes.

Fiber, Cotton, Jute

=000

W 4

Question ID : 864407771
Status : Answered
Chosen Option : 1

Q.38 Arrange the following words in the order in which they appear in an English dictionary.

1. General
2. Gender
3. Gasket
4. Genial
5. Gather

Ans X' 1.4,3,2,1,5
X 2.3,52,4,1
X 3.5321,4

W 435214

Question ID : 864407725
Status : Answered
Chosen Option : 4

Q.39 Select the option that is correct for the bracketed numbers with respect to their inclusion in
the given series.

4,11, 30, (67), 128, 219, (346), 515
Ans x 1. Both the bracketed numbers are correct.



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

! y
FRESHERS NOW
( 2. The first bracketed number is correct and the second bracketed number is incorrect.

x 3. Both the bracketed numbers are incorrect.

X 4. The first bracketed number is incorrect and the second bracketed number is correct.

Question ID : 864407743
Status : Not Answered
Chosen Option : --

Q.40 Three statements are given followed by four conclusions I, 11, Il and IV. You have to
consider these statements to be true, even if they seem at variance from commonly known
facts. Decide which of the given conclusions logically follow/s from the given statement.

Statements:

1. All parrots are crows.
11. All crows are robins.
111. All robins are swan.

Conclusions:

1. All parrots are swans.
11. All swans are crows.
111. All robins are parrots.
IV. All crows are swans.

Ans x 1. All the conclusion follow.
( 2. Only conclusions | and IV follow.
x 3. Only conclusions Il and IlI follow.

X 4. Only conclusions I and Il follow.

Question ID : 864407742
Status : Answered
Chosen Option : 2

Q.41 Four pairs of numbers have been given, out of which three are alike in some manner, while
one is different. Choose out the odd one.

Ans  of 1750
X 2.21:462
/X 3.14:210
X 4.25:650

Question ID : 864407751
Status : Answered
Chosen Option : 1

Q.42 ‘Moisten’ is related to ‘Drench’ in the same way as ‘Prick’ is related to:

Ans & 1. Pin
x 2. knife

X 3. Scratch

o 4 stab

Question ID : 864407731
Status : Answered
Chosen Option: 1

Q.43
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Select the figure that will come next in the following figure series.

Ans

L
Y

>
| [ <
>

>

Question ID : 864407758
Status : Answered
Chosen Option: 1

Q.44 Four pairs of letter-cluster have been given out of which three are alike in some manner,
while one is different. Choose the odd one.

Ans X" 1 NVH - KUK
W 2.cwx-Avz
/X 3.REA-0DD
75 4.TXB-QWE

Question ID : 864407728
Status : Answered
Chosen Option : 2

Q.45 If each English alphabet is assigned even numerical value like A=2, B=4 and so on, what will
be the code of EARTH?

Ans " 1102384218
75 2.122384216
o 3.102364016

25 4102364018

Question ID : 864407740
Status : Answered
Chosen Option : 3

Q.46
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How many triangles are there in the given figure?

Ans X1, 24
X2 27
X3 20
v 26

Question ID : 864407761
Status : Answered
Chosen Option: 4

Q.47 Four pairs of numbers have been given, out of which three are alike in some manner, while
one is different. Choose out the odd one.

Ans X" 1.761:617:176
X 2.416:641: 461
o 3.236:325:263

75 4.189:198:819

Question ID : 864407752
Status : Not Answered
Chosen Option : --

Q.48 In a certain code language, W is written as B, K is written as H, L is written as U, N is written
as A, O is written as M, , E is written as R, D is written as G, G is written as E, then how will
KNOWLEDGE be written in that code?

Ans X" 1. HAMBUGREG
/X 2. MAHBURGER
75 3. MAHBERGUR

o 4 HAMBURGER

Question ID : 864407737
Status : Not Answered
Chosen Option : --

Q.49 Two positions of a DICE are shown. What number nmust on the opposite face of 4?

X
; . N
b L g LA

[ Question ID : 864407762 ]
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Q.50 Select the option that will fill in the blank and complete the given series.

14,17,23,32,44, _____

Ans 169
X 2.56
/X 3.54
W 450

Question ID : 864407744
Status : Answered
Chosen Option : 4

Section : General Knowledge and General Awareness

Q.1 'Mysuru Peta' is a traditional attire worn on the:
Ans X 1. waist

x 2. wrist

x 3. shoulder

( 4. head

Question ID : 864407773
Status : Not Answered
Chosen Option : --

Q.2 In October 2019, who was appointed as the Executive Director for India on the board of the
IMF?

Ans x 1. Amarjeet Sinha
W 2. suijit S Bhalla
x 3. Subir Gokarn

x 4. Asha Ram Sihag

Question ID : 864407808
Status : Answered
Chosen Option: 1

Q.3 Which of the following Governor-Generals introduced a code which provided for the
separation of revenue administration from judicial administration?

Ans X" 1. Lord Wellesley
( 2. Lord Cornwallis
x 3. William Bentinck

x 4. Warren Hastings

Question ID : 864407804
Status : Answered
Chosen Option: 3

Q.4 Which of the following substances is used as a substitute for chlorine in bleaching?
Ans X" 1 Ethanal
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Question ID : 864407789
Status : Not Answered
Chosen Option : --

Ans X" 1. Sikka Port
X 2. Mundra Port
X 3. Okha Port

o 4. Dighi Port

Q.5 Which of the following ports is NOT located in Gujarat?

Question ID : 864407796
Status : Not Answered
Chosen Option : --

Ans

not of all commodities.

Q.6 Which of the following statements is true regarding disinflation?

X 2. An overall decrease in prices over a specific period.
« 3. A decrease in the rate of inflation in a specific period.

X 4. A sudden sharp decrease in prices due to unexpected reasons.

X 1. A scenario when inflation is mainly due to inflation of only a few commodities and

Question ID : 864407782
Status : Answered
Chosen Option : 2

Ans X" 1 Kerala

o 2 Odisha
X 3. Himachal Pradesh

x 4. Arunachal Pradesh

Q.7 'Mabhuri' is a traditional musical instrument belonging to the state of:

Question ID : 864407776
Status : Not Answered
Chosen Option : --

Ans

x 2. adequate means of livelihood

x 3. equal pay for equal work

Q.8 Part IV of the Constitution of India does NOT explicitly expect the State to secure:

x 1. no concentration of wealth and means of production

« 4. maternity leave for employed women

Question ID : 864407813
Status : Answered
Chosen Option : 3
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Q.9 Inthe context of capital markets, the abbreviation 'FPO' stands for:

Ans x 1. Free Public Offer
X 2. First Portfolio Operation
“ 3. Follow-on Public Offer

/X 4. First Public Offer

Question ID : 864407778
Status : Answered
Chosen Option : 4

Q.10 has become the 65th Indian Grandmaster at the age of 13.
Ans  off 1. Raunak Sadhwani

x 2. Rahul Vaid
x 3. R Praggnanandhaa
x 4. Prithu Gupta

Question ID : 864407821
Status : Answered
Chosen Option: 3

Q.11 Which of the following territories was the first to be a part of India after independence?
Ans X" 1. Puducherry

“ 2. Dadra and Nagar Haveli
X 3. Sikkim
x 4. Goa

Question ID : 864407815
Status : Answered
Chosen Option : 2

Q.12 Who started the Tamil weekly magazine 'Kudi Arasu'?

Ans x 1. Chinnaswami Subramanya Bharathi
X 2. T™ Nair
( 3. Periyar EV Ramasamy

x 4. C Natesa Mudaliar

Question ID : 864407805
Status : Not Answered
Chosen Option : --

Q.13 Which of the following industries is NOT included in the 'Eight Core Industries' of India?
Ans X" 1. Fertilizers

X 2. Steel
« 3. Cotton

X 4. Natural Gas

Question ID : 864407781
Status : Not Answered
Chosen Option : --
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Q.14 The 7th CISM Military World Games, 2019 were held in:

Ans X 1.US
W 2 china
x 3. Malaysia

x 4. France

Question ID : 864407822
Status : Answered
Chosen Option : 1

Q.15 Surma River, also known as the Barak River, originates in the:
Ans J 1. Manipur Hills

X 2. Mizo Hills
25 3. Patkai Boom Hills

X 4. Naga Hills

Question ID : 864407800
Status : Not Answered
Chosen Option : --

Q.16 The infrastructure development project with the aim of promoting ‘port-led development' in
India has been named:

Ans X" 1 Bharatmala
X 2. Sagarmata
x 3. Sagarnaman

“ 4. Sagarmala

Question ID : 864407797
Status : Not Answered
Chosen Option : --

Q.17 Which of the following is NOT a fundamental right of Indian citizens?
Ans ( 1. Right to property

x 2. Right to constitutional remedies

x 3. Freedom of movement

x 4. Right to form association

Question ID : 864407816
Status : Answered
Chosen Option: 1

Q.18 In October 2019, RBI gave its approval to the Government of to create a new bank by
amalgamating the District Co-operative banks (DCBs) with its State Co-operative Bank.

Ans  of 1 Kerala

x 2. Maharashtra

x 3. Gujarat

x 4. West Bengal
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Ans

Q.19 The

x 1. Palaeozoic

( 2. Cenozoic
x 3. Neozoic

X 4. Mesozoic

era is also known as the 'age of mammals'.

Question ID : 864407788
Status : Not Answered
Chosen Option : --

Ans

Q.20 'World Ozone Day' is celebrated every year on

X8
W 216
X 312
X 46

Question ID : 864407799
Status : Answered
Chosen Option: 1

Ans

Q.21 Sultan of Johor Cup is a tournament of which sport?

X 1. Badminton

x 2. Cricket

X 3. Football

( 4. Hockey

Question ID : 864407819
Status : Answered
Chosen Option: 4

Ans

W 121
/X 2.24
X 3.22
X 425

of the Constitution.

Q.22 As per the interpretation by the Supreme Court of India, tapping of phone calls infracts the
fundamental right provided in Article

Question ID : 864407817
Status : Answered
Chosen Option: 1

Ans

Q.23 Europa is a natural satellite of:

x 1. Saturn
x 2. Uranus
J 3. Jupiter
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Question ID : 864407786
Status : Answered
Chosen Option: 1

Q.24 With regard to kidneys and its functions, which of the following statements is NOT correct?

Ans x 1. They maintain water balance and expel metabolic waste.
( 2. Reptiles have relatively more nephrons than birds.
x 3. Each nephron has two parts — the glomerulus and the renal tubule

X 4. Their basic functional units are called nephrons.

Question ID : 864407793
Status : Not Answered
Chosen Option : --

Q.25 Batholiths are landforms created by:
Ans X" 1. groundwater

x 2. fluvial action

x 3. glaciers

J 4. volcanic activities

Question ID : 864407795
Status : Not Answered
Chosen Option : --

Q.26 A pillar containing inscriptions from three different periods, i.e. the Mauryan period, Gupta
period and Mughal period, is located at:

Ans x 1. Lauriya Nandangarh
x 2. Topra
“ 3. Allahabad (Prayagraj)

x 4. Rummindei

Question ID : 864407802
Status : Not Answered
Chosen Option : --

Q.27 How many members can be appointed in Rajya Sabha from Uttar Pradesh?

Ans 122
25 2.39
W 331
X 418

Question ID : 864407818
Status : Answered
Chosen Option: 3

Q.28 Which state of India is given the popular name of 'India's bread-basket'?
Ans J 1. Punjab
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x 2. Maharashtra

x 3. Assam

x 4. Uttar Pradesh

-
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Question ID : 864407777
Status : Answered
Chosen Option: 1

Q.29 Tolkappiyar is a famous ancient grammarian of the

Ans  of 1 Tamil

X 2. Telugu

x 3. Kannada

X 4. Oriya

Question ID : 864407774
Status : Not Answered
Chosen Option : --

Q.30 Which of the following statements is NOT correct regarding the Constitution of India
(Eighty-sixth Amendment) Act, 2002?

Ans x 1. It made the provision for early childhood care and education to children below the

age of six years under Article 45.

x 2. Providing opportunities for education to his child or ward between the age of 6 and

14 years' was made a Fundamental Duty of a parent or guardian under Article 5TA.

“ 3. It made it binding for the Government of India to set up a nodal ministry to ensure

effective implementation of these provisions under Article 75.

X 4. Free and compulsory education to all children of the age of 6 to 14 years in the
manner as determine by the State' was made a Fundamental Right under Article 21A.

Question ID : 864407814
Status : Not Answered
Chosen Option : --

Q.31 There is NO vaccine for which of the following hepatitis viruses?

Ans X" 1. Hepatitis A
X 2. Hepatitis D
7% 3. Hepatitis B
( 4. Hepatitis C

Question ID : 864407792
Status : Not Answered
Chosen Option : --

Q.32 Sportsperson Duryodhan Singh Negi is renowned for which sport?

Ans X 1. Archery

J 2. Boxing

x 3. Lawn tennis

x 4. Shooting

Question ID : 864407820
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Status : Answered
Chosen Option : 4

-
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|

Q.33 ____ was chosen as India's official entry in the '‘Best International Feature Film' category at

the Oscars 2020?
Ans x 1. Baba

x 2. Anandi Gopal

x 3. Andhadhun

« 4. Gully Boy

Question ID : 864407812
Status : Not Answered
Chosen Option : --

Q.34 The novel titled 'Quichotte’ is authored by:
Ans X 1. Amit Chaudhuri

J 2. Salman Rushdie
x 3. Sukumar Sen

X 4. VS Naipaul

Question ID : 864407810
Status : Not Answered
Chosen Option : --

Q.35 In the life cycle of a star, the stage nebula refers to:

Ans X 1. the stage when the outer layers expand, cool down and become less bright
x 2. the last stage of its life
( 3. a cloud of dust and hydrogen

x 4. the outer shell of a star

Question ID : 864407783
Status : Not Answered
Chosen Option : --

Q.36 River Kabini is a tributary of the:
Ans x 1. Krishna

x 2. Mahanadi
x 3. Godavari

« 4. Kaveri

Question ID : 864407798
Status : Not Answered
Chosen Option : --

Q.37 Which of the following diseases has been eradicated worldwide?
Ans X" 1. Dracunculiasis

X 2. Chickenpox

x 3. Plague

( 4. Smallpox
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Question ID : 864407791
Status : Not Answered
Chosen Option : --

Q.38 Which movie won the 'Best Film' award at 20th IIFA Awards in 2019?
Ans X 1. Dhadak

x 2. Padmaavat

“ 3. Raazi
x 4. Sanju

Question ID : 864407811
Status : Not Answered
Chosen Option : --

Better Answers To Our Biggest Problems'?
Ans x 1. Raghuram Rajan

x 2. Kaushik Basu
o/ 3. Abhijit Banerjee

x 4. Amartya Sen

Q.39 Who among the following has co-authored the book titled '‘Good Economics For Hard Times:

Question ID : 864407807
Status : Not Answered
Chosen Option : --

Q.40 Which of the following traditional dances is NOT a martial art form?
Ans 3 1. Chhau

X 2. Lazim
“ 3. Bhavai

X 4. Kalaripayattu

Question ID : 864407775
Status : Not Answered
Chosen Option : --

Q.41 Which of the following archaeological sites has evidence of pit-dwellings?
Ans X" 1. Mehrgarh

( 2. Burzahom
x 3. Rana Ghundai

x 4. Palavoy

Question ID : 864407801
Status : Not Answered
Chosen Option : --

Q.42 Which of the following planets is NOT a Jovian planet?

Ans ( 1. Mars
x 2. Jupiter
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x 3. Uranus
x 4. Saturn

Question ID : 864407784
Status : Not Answered
Chosen Option : --

Q.43 In the context of state and administration in the Delhi Sultanate, the term 'muqti' means:
Ans X" 1 ahead of Gram Panchayat

“ 2. the holder of a land assignment called 'igta’
X 3. the head of a village community

x 4. a district level judicial official

Question ID : 864407803
Status : Not Answered
Chosen Option : --

Q.44 Which of the following statements is NOT correct regarding the '‘Bombay blood group'?

Ans ( 1. A person with this blood group may receive blood only from a person with O blood
group.
x 2. It was first discovered in 1952 by Dr. Y M Bhende.

X 3. It is deficient in expressing H antigen.

x 4. It has neither A nor B antigen.

Question ID : 864407794
Status : Not Answered
Chosen Option : --

Q.45 In the context of trans-fats, which of the following statements is NOT correct?

Ans x 1. They are produced from the industrial process of hydrogenation.
x 2. WHO has called for their elimination by 2023.
( 3. They have a shorter shelf-life than natural fats.

x 4. Their consumption increases LDL cholesterol and decreases HDL cholesterol.

Question ID : 864407790
Status : Not Answered
Chosen Option : --

Q.46 What did the term 'shalabhoga’ stand for, with respect to revenue administration under the
Imperial Cholas?

Ans x 1. Land donated for the maintenance of irrigation facilities
x 2. A newly settled village
( 3. Land donated for the maintenance of a school

x 4. Land donated to a warrior

Question ID : 864407806
Status : Not Answered
Chosen Option : --

Q.47 The 'Saraswati Samman 2018' has been conferred on the renowned poet:
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Ans " 1. Akhil Katyal
o 2. K Siva Reddy
x 3. Meena Kandasamy

/X 4. Tishani Doshi

-
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Question ID : 864407809
Status : Not Answered
Chosen Option : --

Q.48 Corundum is an ore of:
Ans X" 1 copper

x 2. silver
X 3.iron
( 4. aluminium

Question ID : 864407787
Status : Not Answered
Chosen Option : --

Q.49 Which of the following is NOT a noble gas?
Ans X" 1 Neon

“ 2. Hydrogen
x 3. Helium
x 4. Argon

Question ID : 864407785
Status : Not Answered
Chosen Option : --

Q.50 Which of the following bodies is primarily concerned with maintaining the integrity of the
international financial system?

Ans X1 IMF
X 2. AIB
o 3. FATF
/X 4.ADB

Question ID : 864407780
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q.1
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Study the given graph and answer the question that follows.

Revenue and Expenditure (in T crores) of a
company in five years

350 120 325 B Revenue
300 275 [ Expenditure

Years

‘What is the ratio of the total expenditure in 2015 and 2016 to the total revenue of the company in 2016 and 2018?
s of1.4:5
X2 19:20
K36:7
X4 11:20

Question ID : 864407714
Status : Not Answered
Chosen Option : --

Q2 1) AABC, £C=90° and CD is perpendicular to AB at D. IFAD/BD =k , then AC/BC = ?
Ans x 1. k
X2 K
. 1
53—
Vi
vk

Question ID : 864407708
Status : Answered
Chosen Option: 1

Q.3 Ifris the remainder when each of 4749, 5601 and 7092 is divided by the greatest possible number d(>1), then the value
of (d + r) will be:

Ans  of 1276
X 2 271
X 3 298
X 4 282

Question ID : 864407675
Status : Answered
Chosen Option : 2

Q4 How many natural numbers less than 1000 are divisible by 5 or 7 but NOT by 35?
ans  of 1. 285

X 2 313

X 3. 34]

X 4. 243
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Question ID : 864407674
Status : Answered
Chosen Option : 4

-
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QS5 If3+cos?@ =3(cot?d +sin28), 0°< 8 <90°, then what is the value of (cos @ + 2sin 6 )?

Ans X'I. 3‘\{5
xz ‘\E+2

2

Vs 24341

2

x4 34341

2

Question ID : 864407710
Status : Answered
Chosen Option: 3

Q.6  Study the given graph and answer the question that follows.

Break-up age-wise (in years) of workers in a company

%0
85
80
5 75
70
65
55
I :
20 24 28 32 36 40 4 48 52 56

Age (in years)

2
1

Number of Workers
[=]

o

o

The number of workers whose age is 32 years or more but less than 44 years is:
Ans x 1. 220
X2 215
X3 225
v 4. 230

Question ID : 864407722
Status : Answered
Chosen Option : 4

Q.7 Akite is flying at a height of 123 m. The thread attached to it is assumed to be stretched straight and makes an angle of
60° with the level ground. The length of the string is (nearest to a whole number):

Ans X1 140 m
X2 139 m
V'3 142 m
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X 4 138 m

Question ID : 864407713
Status : Answered
Chosen Option: 1

Q8 Ifx+y+z=1,xy+yz+zx=—26andx®+y*+z>= 151, then what will be the value of xyz?
Ans “1, 24

X2 —30

X3 —18

X 4 32

Question ID : 864407705
Status : Answered
Chosen Option: 1

Q.9 AABC is an equilateral wiangle in which D, E and F are the points on sides BC, AC and AB, respectively, such that
ADIBC, BELAC and CF LAB. Which of the following is true?

Ans X1 TAB? = 9AD?
K 2 2AB? =3AD?
X 3 4AC*=5BE?
v 4 3AC2=4BE?

Question ID : 864407709
Status : Answered
Chosen Option : 3

Q.10 Three pipes, A, B and C, can fill a cistern in 12, 18 and 24 minutes, respectively. If all the pipes are opened together for
7 minutes, what will be the volume of the water that overflows as the percentage of the total volume of the cistern?

Ans 7
v 26
18
g 1
X 2 23=
32
, 2
7538 23>
3
; 5
X4 26—
18
Question ID : 864407695
Status : Answered
Chosen Option : 4
Q.11 : 0.74x1.23x0.13
What is the value of

(0.37P+(0.41P-8(p.39)* ~
Ans -1
v =

X2 1
X3 -l

X4 =

3
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Question ID : 864407679

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q12 Tftan(116)=rcot(7 & ), then what is the value of sin(6 6 ) + sec2(9 6 ) + cosec(12 6 )?

Ans . 35
18—

X =

, 23
2,87

X2 =

" 31

3.8—

X —

v

12

Question ID : 864407711
Status : Answered
Chosen Option : 4

Q.13 The volume of a solid right circular cone is 600 @ em® , and the diameter of its base is 30 cm. The total surface area

(in cm2) of the cone is:

Ans X1 496 T
v 2 480w
X3 2557
Xaa72m

Question ID : 864407701
Status : Answered
Chosen Option : 2

Q.14 Study the given graph and answer the question that follows.

Revenue and Expenditure (in T crores) of a
company in five years

400 pry 380
350 320 = £ B Revenue
275
200 =5 [ Expenditure
el 210

Years

Total expenditure of the company in 2016, 2017 and 2018 is what percentage less than the total revenue in the given
five years (correct to one decimal place)?

Ans X1, 38.4%
v 2 34.5%
X 3. 36.2%
X 4 36.8%

Question ID : 864407716
Status : Answered
Chosen Option : 2
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Q15 A student was asked to find the value of

z & a2 4
7. S 9 IGef —+(3H— of —J] . i
[-(=+2) X =] X 2—3—=—3s—"~ Hisanswer was—.

What is the difference between his answer and the correct answer?

Ans

A

E|,_. L e e N I;‘Hdl'-.

Question ID : 864407678
Status : Not Answered
Chosen Option : --

Q.16 Letx be the least number of 4 digits that when divided by 2, 3. 4, 5, 6 and 7 leaves a remainder of | in each case. If x
lies between 2000 and 2500, then what is the sum of the digits of x?

Ans X' 1.0Q
X 215
X310
V4

Question ID : 864407676

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q.17 The total number of students in sections A and B of a class is 72. The ratio of the number of students in A and Bis 7: 5.
The average weight (in kg) of the students in section B is 20% more than that of the students in section A. If the average
weight of all the students in the class is 52 kg, then what is the average weight (in kg) of the students in section B?

Ans - X' 1. 58.2
X 2 579
V'3 576
X 4 564

Question ID : 864407681
Status : Answered
Chosen Option: 3

Q.18 The ratio of the incomes of A and B is 3 : 5, whereas the ratio of their expenditures is 4 : 7 respectively. If A and B save
216,000 and 226,000, respectively, then what is the difference (in %) between their expenditures?

Ans X 1. 6800
# 25400
& 35000
v 2 6000

[ Question ID : 864407688 ]
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Status : Answered
Chosen Option : 4

Q.19 study the given graph and answer the question that follows.

Break-up age-wise (in years) of workers in a company

%
8
80
5 5
70
&5
55
I :
24 28 R 36 40 44 48 52 56

Age (in years)

Number of Workers

What is the ratio of the number of workers in the company whose age is 28 years or more but less than 40 years to the

number of workers whose age is 40 years or more but less than 52 years?
Ans  of 1. 7:6
<29:8
X310:7
X4 23:21

Question ID : 864407720
Status : Answered
Chosen Option: 1

Q.20 Afield is in the shape of a trapezium whose parallel sides are 200 m and 400 m long, whereas each of other two sides is
260 m long. What is the area (in m?) of the field?

Ans X 1. 48000
& 252000
v 3 72000
& 460000

Question ID : 864407698
Status : Answered
Chosen Option: 3

Q.21
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Study the given pie chart and answer the question that follows.

Break-up (degree-wise) of the number of students in five schools (A, B, C, D and E) in a city.

Total number of students = 5200

The number of students in school C is what percentage more than the number of students in school B?

Ans X1 7204

v 2 10%
X3 11%
X 4.0.5%
Question ID : 864407718
Status : Answered
Chosen Option: 4
Q 22 3 A 3 5 ; : 4 2 e . 5
. A, B and C enter into a partnership by investing their capitals in the ratio of SRl After 4 months, A increased his
capital by 50%, but B decreased his capital by 20%. What is the share of B in the total profit of 22,82,100 at the end of a
year.

Ans X 1. 397,500
W 2. %1,01,400
X 3. %1,00,750
X 4. Z83,200

Question ID : 864407689
Status : Answered
Chosen Option : 4

Q.23 Aline touches a circle of radius 6 cm. Another line is drawn which is tangent to the circle. If the two lines are parallel,
then the distance between them is:

Ans - X 1. 6cm
v'2 12cm
XA 3 8cm
< 4 10 cm

Question ID : 864407706
Status : Answered
Chosen Option : 2

Q.24 Raghu sold an article for 2180 after allowing a 20% discount on its marked price. Had he not allowed any discount, he
would have gained 20%. What is the cost price of the article?

Ans X1 3190.40
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J
< 2. 7192.80
< 3. 7188.60

v 4 3187.50

Question ID : 864407682
Status : Answered
Chosen Option: 4

Q.25 Study the given graph and answer the question that follows.

Revenue and Expenditure (in ¥ crores) of a
company in five years

350 320 = 925 B Revenue
s

300 = [ Expenditure
L 200 210
200

150
150
100
50

Years

In how many years was the revenue of the company more than 1.2 times the average expenditure over the given five
years?

Ans  of 1
X 2
X 3
X a4

=]

oW =

Question ID : 864407715
Status : Answered
Chosen Option : 1

Q.26 Ais40% less than B, and C is 40% of the sum of A and B. The difference between A and B is what percentage of C?

Ans X 1. 60.5%
X 2 64%
V'3 62.5%
X 4 60%

Question ID : 864407684
Status : Answered
Chosen Option: 3

Q.27 Acando % of a work in 20 days and B can do 3 of the same work in 15 days. They work together for 10 days. C alone

completes the remaining work in 1 day. B and C together can complete 3 of the same work in:

Ans %18 days
W 2. 5 days
/< 3. 4 days
/< 4 6 days

Question ID : 864407693
Status : Answered
Chosen Option : 2
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Q.28 The total surface area of a solid hemisphere is 1039.5 em? . The volume (in cn?®) of the hemisphere is:

(Take m = ?}

Ans K1, 22255
K 2 2530.6
v 3 24255
X 4 25256

Question ID : 864407700
Status : Answered
Chosen Option : 3

. t 15 the compoun interest on a sum o & or 1 — years at a rate o bp.a.l the interest is compous
Q.29 what is th di £237,500 for 1> te of 12% p.a. if the interest i ded
8- monthly?

Ans X 1. 36,440
v 2. 26,240
X 326,420
X 4. 26,448

Question ID : 864407691
Status : Answered
Chosen Option : 2

Q.30 A person invested a sum of 218,600 at x% p.a. and another sum that is twice the former at (x ~ 2) % p.a., both at simple

interest. If the total interest earned on both investments for 3% years is 23,110.50, then the rate of interest p.a. on the
second investment is:

Ans X1 11%
X 2 10.5%
X 3 13%
Vv 4 125%

Question ID : 864407690
Status : Not Answered
Chosen Option : --

Q.31 Sujatha sold 75% of her goods at a profit of 24% and the remaining at a loss of 40%. What is her gain/loss percentage
on the whole transaction?

Ans  of' 1. 8% gain
75 2. 10% gain
< 3. 9% loss
X 4 7.5% loss

Question ID : 864407687
Status : Answered
Chosen Option : 1

Q.32 A man spends grd of his income. If his income increases by 14% and the expenditure increases by 20%, then the
percentage increase in his savings will be

Ans
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K1 1%
V2 2%
X 3 4%
X 4 6%
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Question ID : 864407685
Status : Answered
Chosen Option : 2

Q.33 Aand B together can do a certain work in x days. Working alone, A and B can do the same work in (x + 8) and (x + 18)

days, respectively. A and B together will complete Z of the same work in:

Ans xm 9{!3}’5
& 2. 8 days

+ 3. 10 days
& 4. 12 days

Question ID : 864407692
Status : Answered
Chosen Option : 3

Q.34 PT is a tangent at the point R on a circle with centre O. SQ is a diameter, which when produced meets the tangent PT at
P. If £SPT=32°, then what will be the measure of ZQRP?

Ans X-L 370
X 2. 58°
X 3300
W 4 200

Question ID : 864407707
Status : Answered
Chosen Option: 3

Q.35 Study the given graph and answer the question that follows.

Break-up age-wise (in years) of workers in a company

%0
8
80
5 75
70
6
55
I :
24 2 7] 36 40 '] 43 52 56

Age (in years)

Number of Workers

The number of workers whose age is 36 years or more but less than 48 years is what percentage more than the number

of workers whose age is less than 28 years (correct to one decimal point)?

Ans  of 1. 60.7%
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J
X 2 61.2%
X 3. 62.8%

X 4.59.4%

Question ID : 864407721
Status : Answered
Chosen Option: 1

Q.36 The average of ten numbers is 72. The average of the first four numbers is 69 and that of the next three numbers is 74.

The 8™ number is 6 more than the 9 number and 12 more than the 10 number. What is the average of the g% and oth
numbers?

Ans XT 76
X 2 76.5
X 3775

v 4 77

Question ID : 864407680
Status : Answered
Chosen Option : 4

Q.37 - l fﬂ\."ﬂ.6912+«-'lﬂ.5292 .
e value o 15
+/0.6912—/0.5292

Ans X 1. 1.5
X209
V3 15
X409

Question ID : 864407673
Status : Answered
Chosen Option: 1

Q.38 Froma point 12 m above the water level, the angle of elevation of the top of a hill is 60° and the angle of depression of
the base of the hill is 30°. What is the height (in m) of the hill?

Ans XT 36
X 2 4843
V'3 48
X 4 3643

Question ID : 864407712
Status : Answered
Chosen Option: 3

Q.39 Anarticle is sold for 2680 after two successive discounts of 20% and x% on its marked price. The marked price of the
article is 21,000. What is the value of x?

Ans «1_ 15
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Question ID : 864407683
Status : Answered
Chosen Option: 1
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Q.40 Ifa-~+b~+c=6anda®+b?+c2=38. then what is the value of a(b? + ¢?) + b(c? + a?) + c(a? + b?) + 3abc?
Ans XT 3

X2 —3

X3 6

v —6

Question ID : 864407704
Status : Answered
Chosen Option : 4

Q.41 Aand B started travelling towards each other at the same time, from places X to Y and Y to X, respectively. After
crossing each other, A and B took 2.45 hours and 4.05 hours to reach Y and X, respectively. If the speed of B was 8.4
km/h, then what was the speed (in km/h) of A?

Ans  of 1. 10.8
X299
<3126
X4 117

Question ID : 864407696
Status : Not Answered
Chosen Option : --

Q.42 PipesPand Q canfill a tank in 18 and 27 minutes, respectively, whereas pipe R can empty the full tank in 54 minutes. P
and Q were opened together for 6 minutes and then closed and R was opened. The tank was emptied by R alone in:

Ans  of 1. 30 minutes
& 2. 40 minutes
/3. 35 minutes
< 4 45 minutes

Question ID : 864407694
Status : Answered
Chosen Option : 1

Q.43 Acircular park whose diameter is 210 m has a 5 m wide path running around it (on the outside). What is the area
(in m?) of the path?

Ans X1 11007
X 2 10507
V'3 1075
X 4 10207

Question ID : 864407699
Status : Answered
Chosen Option: 3

44 g {(2x = 5y)3 — (Zx+ 5}’)3 = y[Ax? + By?]. then what is the value of (2A — B)?
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! .
Ans X1. 25
X2 40
X315

v 10

Question ID : 864407703
Status : Answered
Chosen Option: 3

Q.45 5-[2+3(2—2x245)-5]=5 .
The value of
4xd=4 of (4+4=4 of 4}

V4
X 2 ?2
Xs3=
'}(4.2

Ans

Question ID : 864407677
Status : Answered
Chosen Option : 3

Q.46 A solid metallic sphere of radius x em is melted and then drawn into 126 cones each of radius 3.5 cm and height 3 cm.

There is no wastage of material in this process. What is the value of x?
ans of 1.10.5
X217
X335
X4 2]

Question ID : 864407702
Status : Answered
Chosen Option : 4

Q.47 study the given pie chart and answer the question that follows.

Break-up (degree-wise) of the number of students in five schools (A, B, C, D and E) in a city.

Total number of students = 5200

If the ratio of the number of boys to that of girls in school B is 7 : 6 and the ratio of the number of boys to that of girls in
school D is 4 : 5, then what is the ratio of the number of boys in B to that of girls in D?

Ans  of 114113
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’.
&2 12: 13
X 313:12

K 413:14

Question ID : 864407719
Status : Not Answered
Chosen Option : --

Q.48 Study the given pie chart and answer the question that follows.

Break-up (degree-wise) of the number of students in five schools (A, B, C, D and E) in a city.

Total number of students = 5200

If the total number of students in schools D and E exceeds the number of students in school A by x, then x lies between:

Ans X 1. 475 and 500
X 2 550and 575
< 3 525 and 550
v 4 500 and 525

Question ID : 864407717
Status : Answered
Chosen Option: 4

Q.49 Ina test consisting of 140 questions, a candidate cotrectly answered 70% of the first 80 questions. What percentage of
the remaining questions does the candidate need to correctly answer to score 60% in the test?

Ans x1. 40%
x 2 45§ %
Vs 46§ %

X 4. 35%

Question ID : 864407686
Status : Answered
Chosen Option: 3

Q.50 A train of length 212 m is running at 45 km/h. In what time (in seconds) will it cross a platform of length 188 m?

Ans - X136
X2 42
V3 32
X4 40

[ Question ID : 864407697
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Status : Answered
Chosen Option : 3

-

FRESHERS NOW

|

Section : English Comprehension

Q.1 Select the most appropriate ANTONYM of the given word.

TENSE
Ans ( 1. relaxed

75 2. stiff
X 3. close
x 4. strained

Question ID : 864407850
Status : Answered
Chosen Option: 1

Q.2 Select the most appropriate synonym of the given word.

FATIGUE
Ans X' 1. liveliness

J 2. weariness

x 3. earnestness

X 4. freshness

Question ID : 864407847
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate word to fill in the blank.

Father didn't believe | said.

Ans  of 1 what
25 2. which
X 3.who
X 4. that

Question ID : 864407836
Status : Answered
Chosen Option : 1

Q.4 Select the most appropriate meaning of the given idiom.

Bed of roses

Ans X 1. An unforgettable moment
x 2. A state of perplexity
( 3. An enjoyable state

x 4. A difficult situation

Question ID : 864407854
Status : Answered
Chosen Option: 3
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Q.5

Ans

Select the most appropriate word to fill in the blank.

If you your book, I'd like to borrow it.

X 1. will finish
K 2. finish

( 3. have finished

75 4. finished

Question ID : 864407837
Status : Answered
Chosen Option: 3

Q.6

Ans

Comprehension:
Read the following passage and answer the questions given after it.

Standing in ankle-deep water engulfing his field, Kamal Singh Dhangar takes a wild shot at the
likely yield from the soyabean crop that practically lies in ruins behind him.

"One bag, two bags with difficulty,” notes the 58-year old with a wry smile, minutes after a
fresh spell of rains has lashed Guradiya Sirajuddin village in Ashta tehsil of Madhya Pradesh’s
(MP) Sehore district. While the same three-acre plot had given nearly 16 quintals of soyabean
last year, Dhangar this time isn't sure he can even afford labourers to harvest the negligible
produce staring in his face.

He draws solace only from his not being alone. Most farmers in Guradiya Sirajuddin as well as
neighbouring villages have reported widespread damage to their already matured standing
crop.

Gulab Singh, who owns 10 acres not far from Dhangar’s field, is ruing his decision to have
taken an additional six acres of land on lease for cultivating soyabean and wheat this year. ‘I
have paid the owner Rs 1.5 lakh. By now, this soyabean crop should have been ready for
taking to Ashta mandi (agriculture produce market at the tehsil town, about 10 km away). But
my expensive pursuit has proved costly,” remarks the 60-year-old, who, too, cannot enter his
field without wading through water almost touching the knees.

Seated at the edge of his flooded field a few hundred meters away, Dev Singh, a sprightly
octogenarian, cannot remember the year when the monsoon rains caused such late-stage
havoc. “I may have been this big,” he says, pointing to a man many decades younger to him.
Western MP, in which Sehore falls, has received 1,335.4 mm of average rainfall from 1 June 1
to 25 September, 58% more than the region’s historical normal of 845.3 mm for this period.
However, the real story lies in the month-wise figures. In June, the opening month of the
southwest monsoon season, the rains were actually 25.6% below the long-period average. In
July, they were 31.2% above average. That surplus rose to 63.6% in August, while a whopping
158% more so far till September, confirming Dev Singh’s observation. Worse, there’s little
respite, with more rains predicted over the next few days.

The monsoon has taken its toll mainly on soyabean. According to the Union agriculture
ministry’s data, a total area of 113.449 lakh hectares (Ih) has been planted under this
leguminous oilseed in the current kharif season, with the bulk of it accounted for by MP
(55.16 |h), Maharashtra (39.595 Ih) and Rajasthan (10.608 Ih). Within MP, the main soyabean-
growing districts are Ujjain, Dewas, Indore, Dhar, Ratlam, Mandsaur, Rajgarh, Shajapur, Sehore
and Vidisha. The crop in low-lying areas is the one that has been worst affected.

“Farmers who had sown early-maturity (80-90 days duration) varieties such as JS 9560 and
JS 2034 just after mid-June will take the biggest hit. Their crop would already have matured;
the longer it remains in the field, the more the chances of the grain rotting. Also, these
farmers will not be able to save this grain for using as seed next year,” admits V S Bhatia,
director of the Indian Institute of Soyabean Research at Indore.

SubQuestion No : 6
Which of the following statements is NOT true according to the passage?
K 1. By September, the soyabean crop should have been ready for taking to Ashta mandi.
K 2. The three-acre plot of Kamal Singh had given nearly 16 quintals of soyabean in the
past year.
\f 3. In July-August the actual rainfall was 25.6% below the long-period average.

x 4. From 1 June to 25 September, 58% more rainfall was recorded than the region’s
historical normal.

Question ID : 864407874
Status : Not Answered
Chosen Option : --
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Comprehension:
Read the following passage and answer the questions given after it.

Standing in ankle-deep water engulfing his field, Kamal Singh Dhangar takes a wild shot at the
likely yield from the soyabean crop that practically lies in ruins behind him.

"One bag, two bags with difficulty,” notes the 58-year old with a wry smile, minutes after a
fresh spell of rains has lashed Guradiya Sirajuddin village in Ashta tehsil of Madhya Pradesh’s
(MP) Sehore district. While the same three-acre plot had given nearly 16 quintals of soyabean
last year, Dhangar this time isn't sure he can even afford labourers to harvest the negligible
produce staring in his face.

He draws solace only from his not being alone. Most farmers in Guradiya Sirajuddin as well as
neighbouring villages have reported widespread damage to their already matured standing
crop.

Gulab Singh, who owns 10 acres not far from Dhangar’s field, is ruing his decision to have
taken an additional six acres of land on lease for cultivating soyabean and wheat this year. “I
have paid the owner Rs 1.5 lakh. By now, this soyabean crop should have been ready for
taking to Ashta mandi (agriculture produce market at the tehsil town, about 10 km away). But
my expensive pursuit has proved costly,” remarks the 60-year-old, who, too, cannot enter his
field without wading through water almost touching the knees.

Seated at the edge of his flooded field a few hundred meters away, Dev Singh, a sprightly
octogenarian, cannot remember the year when the monsoon rains caused such late-stage
havoc. “I may have been this big,” he says, pointing to a man many decades younger to him.
Western MP, in which Sehore falls, has received 1,335.4 mm of average rainfall from 1 June 1
to 25 September, 58% more than the region’s historical normal of 845.3 mm for this period.
However, the real story lies in the month-wise figures. In June, the opening month of the
southwest monsoon season, the rains were actually 25.6% below the long-period average. In
July, they were 31.2% above average. That surplus rose to 63.6% in August, while a whopping
158% more so far till September, confirming Dev Singh’s observation. Worse, there’s little
respite, with more rains predicted over the next few days.

The monsoon has taken its toll mainly on soyabean. According to the Union agriculture
ministry’s data, a total area of 113.449 lakh hectares (Ih) has been planted under this
leguminous oilseed in the current kharif season, with the bulk of it accounted for by MP
(55.16 lh), Maharashtra (39.595 Ih) and Rajasthan (10.608 Ih). Within MP, the main soyabean-
growing districts are Ujjain, Dewas, Indore, Dhar, Ratlam, Mandsaur, Rajgarh, Shajapur, Sehore
and Vidisha. The crop in low-lying areas is the one that has been worst affected.

“Farmers who had sown early-maturity (80-90 days duration) varieties such as JS 9560 and
JS 2034 just after mid-June will take the biggest hit. Their crop would already have matured;
the longer it remains in the field, the more the chances of the grain rotting. Also, these
farmers will not be able to save this grain for using as seed next year,” admits V S Bhatia,
director of the Indian Institute of Soyabean Research at Indore.

SubQuestion No : 7

Q.7 What problem are the farmers of Sehore District in MP facing?

Ans \f 1. The excessive rain has damaged the soyabean crop.
x 2. They cannot make seeds from their crop.
K 3. The soyabean yield has diminished.

x 4. They cannot take their produce to the market.

Question ID : 864407870
Status : Not Answered
Chosen Option : --

Comprehension:
Read the following passage and answer the questions given after it.

Standing in ankle-deep water engulfing his field, Kamal Singh Dhangar takes a wild shot at the
likely yield from the soyabean crop that practically lies in ruins behind him.

"One bag, two bags with difficulty,” notes the 58-year old with a wry smile, minutes after a
fresh spell of rains has lashed Guradiya Sirajuddin village in Ashta tehsil of Madhya Pradesh’s
(MP) Sehore district. While the same three-acre plot had given nearly 16 quintals of soyabean
last year, Dhangar this time isn't sure he can even afford labourers to harvest the negligible
produce staring in his face.

He draws solace only from his not being alone. Most farmers in Guradiya Sirajuddin as well as
neighbouring villages have reported widespread damage to their already matured standing
crop.

Gulab Singh, who owns 10 acres not far from Dhangar’s field, is ruing his decision to have
taken an additional six acres of land on lease for cultivating soyabean and wheat this year. “I
have paid the owner Rs 1.5 lakh. By now, this soyabean crop should have been ready for
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Q.8

Ans

taking to Ashta mandi (agriculture produce market at the tehsil town, about 10 km away). But
my expensive pursuit has proved costly,” remarks the 60-year-old, who, too, cannot enter his
field without wading through water almost touching the knees.

Seated at the edge of his flooded field a few hundred meters away, Dev Singh, a sprightly
octogenarian, cannot remember the year when the monsoon rains caused such late-stage
havoc. “I may have been this big,” he says, pointing to a man many decades younger to him.
Western MP, in which Sehore falls, has received 1,335.4 mm of average rainfall from 1 June 1
to 25 September, 58% more than the region’s historical normal of 845.3 mm for this period.
However, the real story lies in the month-wise figures. In June, the opening month of the
southwest monsoon season, the rains were actually 25.6% below the long-period average. In
July, they were 31.2% above average. That surplus rose to 63.6% in August, while a whopping
158% more so far till September, confirming Dev Singh’s observation. Worse, there’s little
respite, with more rains predicted over the next few days.

The monsoon has taken its toll mainly on soyabean. According to the Union agriculture
ministry’s data, a total area of 113.449 lakh hectares (lh) has been planted under this
leguminous oilseed in the current kharif season, with the bulk of it accounted for by MP
(55.16 Ih), Maharashtra (39.595 |h) and Rajasthan (10.608 |h). Within MP, the main soyabean-
growing districts are Ujjain, Dewas, Indore, Dhar, Ratlam, Mandsaur, Rajgarh, Shajapur, Sehore
and Vidisha. The crop in low-lying areas is the one that has been worst affected.

“Farmers who had sown early-maturity (80-90 days duration) varieties such as JS 9560 and
JS 2034 just after mid-June will take the biggest hit. Their crop would already have matured;
the longer it remains in the field, the more the chances of the grain rotting. Also, these
farmers will not be able to save this grain for using as seed next year,” admits V S Bhatia,
director of the Indian Institute of Soyabean Research at Indore.

SubQuestion No : 8

In Western MP where Sehore is situated what is the normal average rainfall from June to
September?

25 1.158 mm

K 2.113.4mm
o 3.8453mm

25 4.1335.4mm

-

FRESHERS NOW

Question ID : 864407873
Status : Not Answered
Chosen Option : --

Comprehension:
Read the following passage and answer the questions given after it.

Standing in ankle-deep water engulfing his field, Kamal Singh Dhangar takes a wild shot at the
likely yield from the soyabean crop that practically lies in ruins behind him.

"One bag, two bags with difficulty,” notes the 58-year old with a wry smile, minutes after a
fresh spell of rains has lashed Guradiya Sirajuddin village in Ashta tehsil of Madhya Pradesh’s
(MP) Sehore district. While the same three-acre plot had given nearly 16 quintals of soyabean
last year, Dhangar this time isn't sure he can even afford labourers to harvest the negligible
produce staring in his face.

He draws solace only from his not being alone. Most farmers in Guradiya Sirajuddin as well as
neighbouring villages have reported widespread damage to their already matured standing
crop.

Gulab Singh, who owns 10 acres not far from Dhangar’s field, is ruing his decision to have
taken an additional six acres of land on lease for cultivating soyabean and wheat this year. “I
have paid the owner Rs 1.5 lakh. By now, this soyabean crop should have been ready for
taking to Ashta mandi (agriculture produce market at the tehsil town, about 10 km away). But
my expensive pursuit has proved costly,” remarks the 60-year-old, who, too, cannot enter his
field without wading through water almost touching the knees.

Seated at the edge of his flooded field a few hundred meters away, Dev Singh, a sprightly
octogenarian, cannot remember the year when the monsoon rains caused such late-stage
havoc. “I may have been this big,” he says, pointing to a man many decades younger to him.
Western MP, in which Sehore falls, has received 1,335.4 mm of average rainfall from 1 June 1
to 25 September, 58% more than the region’s historical normal of 845.3 mm for this period.
However, the real story lies in the month-wise figures. In June, the opening month of the
southwest monsoon season, the rains were actually 25.6% below the long-period average. In
July, they were 31.2% above average. That surplus rose to 63.6% in August, while a whopping
158% more so far till September, confirming Dev Singh’s observation. Worse, there’s little
respite, with more rains predicted over the next few days.

The monsoon has taken its toll mainly on soyabean. According to the Union agriculture
ministry’s data, a total area of 113.449 lakh hectares (Ih) has been planted under this
leguminous oilseed in the current kharif season, with the bulk of it accounted for by MP
(55.16 |h), Maharashtra (39.595 Ih) and Rajasthan (10.608 Ih). Within MP, the main soyabean-
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Ans

growing districts are Ujjain, Dewas, Indore, Dhar, Ratlam, Mandsaur, Rajgarh, Shajapur, Sehore
and Vidisha. The crop in low-lying areas is the one that has been worst affected.

“Farmers who had sown early-maturity (80-90 days duration) varieties such as JS 9560 and
JS 2034 just after mid-June will take the biggest hit. Their crop would already have matured;
the longer it remains in the field, the more the chances of the grain rotting. Also, these
farmers will not be able to save this grain for using as seed next year,” admits V S Bhatia,
director of the Indian Institute of Soyabean Research at Indore.

SubQuestion No : 9

Match the words with their meaning.
Words Meanings

a. havoc 1. undertaking

b. pursuit 2. submerge

c. engulf 3. calamity

25 1.a2,b3,c1
X 2.a2,b1,c3
25 3.a1,b3,c2

W 4.a3b1,c2

-

FRESHERS NOW

Question ID : 864407872
Status : Not Answered
Chosen Option : --

Q.10

Ans

Comprehension:
Read the following passage and answer the questions given after it.

Standing in ankle-deep water engulfing his field, Kamal Singh Dhangar takes a wild shot at the
likely yield from the soyabean crop that practically lies in ruins behind him.

"One bag, two bags with difficulty,” notes the 58-year old with a wry smile, minutes after a
fresh spell of rains has lashed Guradiya Sirajuddin village in Ashta tehsil of Madhya Pradesh’s
(MP) Sehore district. While the same three-acre plot had given nearly 16 quintals of soyabean
last year, Dhangar this time isn't sure he can even afford labourers to harvest the negligible
produce staring in his face.

He draws solace only from his not being alone. Most farmers in Guradiya Sirajuddin as well as
neighbouring villages have reported widespread damage to their already matured standing
crop.

Gulab Singh, who owns 10 acres not far from Dhangar’s field, is ruing his decision to have
taken an additional six acres of land on lease for cultivating soyabean and wheat this year. “I
have paid the owner Rs 1.5 lakh. By now, this soyabean crop should have been ready for
taking to Ashta mandi (agriculture produce market at the tehsil town, about 10 km away). But
my expensive pursuit has proved costly,” remarks the 60-year-old, who, too, cannot enter his
field without wading through water almost touching the knees.

Seated at the edge of his flooded field a few hundred meters away, Dev Singh, a sprightly
octogenarian, cannot remember the year when the monsoon rains caused such late-stage
havoc. “I may have been this big,” he says, pointing to a man many decades younger to him.
Western MP, in which Sehore falls, has received 1,335.4 mm of average rainfall from 1 June 1
to 25 September, 58% more than the region’s historical normal of 845.3 mm for this period.
However, the real story lies in the month-wise figures. In June, the opening month of the
southwest monsoon season, the rains were actually 25.6% below the long-period average. In
July, they were 31.2% above average. That surplus rose to 63.6% in August, while a whopping
158% more so far till September, confirming Dev Singh’s observation. Worse, there’s little
respite, with more rains predicted over the next few days.

The monsoon has taken its toll mainly on soyabean. According to the Union agriculture
ministry’s data, a total area of 113.449 lakh hectares (Ih) has been planted under this
leguminous oilseed in the current kharif season, with the bulk of it accounted for by MP
(55.16 lh), Maharashtra (39.595 Ih) and Rajasthan (10.608 Ih). Within MP, the main soyabean-
growing districts are Ujjain, Dewas, Indore, Dhar, Ratlam, Mandsaur, Rajgarh, Shajapur, Sehore
and Vidisha. The crop in low-lying areas is the one that has been worst affected.

“Farmers who had sown early-maturity (80-90 days duration) varieties such as JS 9560 and
JS 2034 just after mid-June will take the biggest hit. Their crop would already have matured;
the longer it remains in the field, the more the chances of the grain rotting. Also, these
farmers will not be able to save this grain for using as seed next year,” admits V S Bhatia,
director of the Indian Institute of Soyabean Research at Indore.

SubQuestion No : 10

Who among the following took on 6 acres of land for soyabean cultivation in addition to his
original 10 acres of land?

x 1. Dev Singh
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o 2. Gulab Singh
x 3. Vijay Singh
x 4. Kamal Singh

-

FRESHERS NOW

Question ID : 864407871
Status : Not Answered
Chosen Option : --

Q.11 Select the INCORRECTLY spelt word.
Ans X" 1 authority

( 2. audiance
x 3. austere
X 4. audible

Question ID : 864407868
Status : Answered
Chosen Option : 2

Q.12 Select the most appropriate meaning of the given idiom.

At the drop of a hat
Ans x 1. Usually

x 2. Frequently
X 3. Normally

f 4. Instantly

Question ID : 864407856
Status : Answered
Chosen Option: 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Central Park Tower has just become the tallest residential building in the world. The views

(1) this building are amazing. The (2) of apartments in this skyscraper are

3) as the sky. The cheapest apartment (4) at $6.7 million, and the most (5)______
five-bedroom apartment costs $63 million.

SubQuestion No : 13
Q.13 Select the most appropriate option to fill in blank No.1.

Ans X 1 above
X 2.up
o 3.from
X 4.0n

Question ID : 864407839
Status : Answered
Chosen Option: 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
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Central Park Tower has just become the tallest residential building in the world. The views
(1)______ this building are amazing. The (2) of apartments in this skyscraper are

3) as the sky. The cheapest apartment (4) at $6.7 million, and the most (5)_____
five-bedroom apartment costs $63 million.

SubQuestion No : 14
Select the most appropriate option to fill in blank No.2.

{ 1. prices
25 2. bills

x 3. amounts

x 4. values

Question ID : 864407840
Status : Answered
Chosen Option: 4

Q.15
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Central Park Tower has just become the tallest residential building in the world. The views
(1) this building are amazing. The (2) of apartments in this skyscraper are

(3) as the sky. The cheapest apartment (4) at $6.7 million, and the most (5)
five-bedroom apartment costs $63 million.

SubQuestion No : 15
Select the most appropriate option to fill in blank No.3.

J 1. as high
25 2 high
x 3. higher

x 4. highest

Question ID : 864407841
Status : Answered
Chosen Option: 1

Q.16
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Central Park Tower has just become the tallest residential building in the world. The views

(1) this building are amazing. The (2) of apartments in this skyscraper are

3) as the sky. The cheapest apartment (4) at $6.7 million, and the most (5)_____
five-bedroom apartment costs $63 million.

SubQuestion No : 16
Select the most appropriate option to fill in blank No.4.

x 1. start
x 2. started
f 3. starts

x 4. is starting

Question ID : 864407842
Status : Answered
Chosen Option: 3

Comprehension:
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In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Central Park Tower has just become the tallest residential building in the world. The views

(1) this building are amazing. The (2)______ of apartments in this skyscraper are

3) as the sky. The cheapest apartment (4) at $6.7 million, and the most (5)_____
five-bedroom apartment costs $63 million.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank No.5.

Ans X 1 extreme

x 2. economical

( 3. expensive

x 4. excessive

-

FRESHERS NOW

Question ID : 864407843
Status : Answered
Chosen Option: 3

Q.18 Select the most appropriate word which means the same as the group of words given.

Not revealing one's thoughts or feelings readily
Ans X' 1 evaluative

( 2. reticent
x 3. forthright

X 4. communicative

Question ID : 864407863
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate synonym of the given word.

REDUNDANT
Ans x 1. uninterested

x 2. unsuitable
X 3. unparalleled

J 4. unnecessary

Question ID : 864407846
Status : Answered
Chosen Option: 4

Q.20 Select the INCORRECTLY spelt word.
Ans X" 1 describe

X 2. despise
x 3. desire
( 4. designe

Question ID : 864407865
Status : Answered
Chosen Option : 4



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

FRESHERS NOW

Q.21 Identify the segment in the sentence which contains the grammatical error. If there is no
error, select 'No error'

Anita enjoyed to swim in the sea.
Ans x 1. No error

X 2. Anita enjoyed

f 3. to swim

X 4.inthe sea

Question ID : 864407824
Status : Answered
Chosen Option : 2

Q.22 Select the most appropriate ANTONYM of the given word.

WANE
Ans J 1. increase

x 2. abate
X 3. fall
x 4. dwindle

Question ID : 864407849
Status : Answered
Chosen Option: 1

Q.23 Select the most appropriate meaning of the given idiom.

Make a beeline for

Ans X" 1. Make a line for honey
x 2. Go for freebies
x 3. Stand in a queue

« 4. Go straight to

Question ID : 864407855
Status : Answered
Chosen Option : 4

Q.24 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select 'No substitution'.

When we arrived at Jhansi station, we are keeping_our luggages in the cloak room.
Ans x 1. are keeping our luggage
x 2. kept our luggages

J 3. kept our luggage
x 4. No substitution

Question ID : 864407832
Status : Answered
Chosen Option : 3

Q.25 Select the most appropriate word which means the same as the group of words given.

Two lengths of rope, bamboo or wood with rungs used for climbing up and down walls,
sides of ships etc.
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Ans X 1 bridge
x 2. staircase

X 3. steps
J 4. ladder

Question ID : 864407862
Status : Answered
Chosen Option : 4

Q.26 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select 'No substitution'.

You have finished your work, have you?
Ans J 1. haven't you

x 2. No substitution
X 3. did you

x 4. didn't you

Question ID : 864407831
Status : Answered
Chosen Option: 4

Q.27 Select the most appropriate word which means the same as the group of words given.

To prepare written material for publication by correcting or modifying it

Ans  of 1 cdit

x 2. summarise

X 3. crop
x 4. abridge

Question ID : 864407861
Status : Answered
Chosen Option : 2

Q.28 Select the most appropriate synonym of the given word.

TRIVIAL
Ans J 1. superficial

X 2. warm
x 3. meaningful
X 4. essential

Question ID : 864407844
Status : Answered
Chosen Option : 4

Q.29 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select 'No substitution'.

He waits to you for about two hours.

Ans x 1. has been waiting to you

X 2. has waiting for you
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X 3. No substitution

( 4. has been waiting for you

-
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Question ID : 864407830
Status : Answered
Chosen Option: 4

Q.30 Select the most appropriate ANTONYM of the given word.

ERUDITE
Ans  of 1 ignorant
X 2. savvy
X 3. high-brow
x 4. scholarly

Question ID : 864407853
Status : Answered
Chosen Option : 3

Q.31 Select the most appropriate synonym of the given word.

SCANTY
Ans x 1. plentiful

x 2. enough

x 3. adequate

( 4. meager

Question ID : 864407845
Status : Answered
Chosen Option : 4

Q.32 Select the INCORRECTLY spelt word.

Ans " 1. gadget
W 2 gallary
x 3. galaxy
X 4. gaiety

Question ID : 864407867
Status : Answered
Chosen Option : 2

Q.33 Select the most appropriate word which means the same as the group of words given.

A list of the books referred to in a scholarly work

Ans  of 1. bibliography
/5 2. bibliophile
x 3. holography
/X 4. calligraphy

Question ID : 864407859
Status : Answered
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l Chosen Option : 2

-
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Q.34 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select 'No substitution'.

I know the girl that sells flowers on the pavement.

Ans “ 1. who

X 2. No substitution

25 3. which
X 4. what

Question ID : 864407828
Status : Answered
Chosen Option : 1

Q.35 In the sentence identify the segment which contains the grammatical error.

With food granaries overflowing, the Government is looking to liquidate his grain stock to
prevent damage.

Ans X" 1. to prevent damage
“ 2. to liquidate his grain stock
X 3. the Government is looking

x 4. With food granaries overflowing

Question ID : 864407827
Status : Answered
Chosen Option : 4

Q.36 Select the most appropriate synonym of the given word.

COMPLACENT
Ans X' 1. amicable

X 2. discontent

« 3. smug

X 4. aggressive

Question ID : 864407848
Status : Answered
Chosen Option: 1

Q.37 Select the most appropriate meaning of the given idiom.

Till the cows come home
Ans x 1. Till the work is finished

x 2. In the evening
( 3. For a long, long time
x 4. For a small part

Question ID : 864407858
Status : Answered
Chosen Option : 2

Q.38 Select the most appropriate ANTONYM of the given word.
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OFFBEAT
Ans i 1. conventional

x 2. weird
X 3. freaky
x 4. unique

-
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Question ID : 864407851
Status : Answered
Chosen Option: 4

FUTILE
Ans X 1. hollow

x 2. worthless

x 3. barren

( 4. productive

Q.39 Select the most appropriate ANTONYM of the given word.

Question ID : 864407852
Status : Answered
Chosen Option: 4

Ans x 1. Evenif

X 2. Hence
“ 3. Since

X 4. Although

Q.40 Select the most appropriate word to fill in the blank.

there were no buses, we had to take a taxi.

Question ID : 864407835
Status : Answered
Chosen Option : 3

Touch and go
Ans X" 1 Unchanging

x 2. Undoubted

X 3. Unimportant

« 4. Uncertain

Q.41 Select the most appropriate meaning of the given idiom.

Question ID : 864407857
Status : Answered
Chosen Option : 4

Ans X" 1. were back

X 2. the phone signals

Q.42 In the sentence identify the segment which contains the grammatical error.

After two months the phone signals were back at the valley.
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“ 3. at the valley

x 4. After two months

Question ID : 864407825
Status : Answered
Chosen Option: 3

Q.43 Select the most appropriate word to fill in the blank.

The boy was leaning against the pillar
Ans X 1. for; into

“ 2. with; in
x 3. with; from

x 4. for;in

his hands his pockets.

Question ID : 864407833
Status : Answered
Chosen Option : 2

Q.44 Select the INCORRECTLY spelt word.
Ans X" 1 homage

“ 2. hinderence
X 3. humour
x 4. hoarse

Question ID : 864407866
Status : Answered
Chosen Option : 2

Q.45 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution'.

The mother is slept while the child was playing.
Ans x 1.is asleep

x 2. was slept

x 3. No substitution

( 4. was asleep

Question ID : 864407829
Status : Answered
Chosen Option : 2

Q.46 Select the most appropriate word which means the same as the group of words given.

To spend winter in a dormant state
Ans X" 1 hoist

“ 2. hibernate

X 3. convalesce

x 4. connote

[ Question ID : 864407860 ]
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Status : Answered
Chosen Option : 2

Q.47 Select the INCORRECTLY spelt word.
Ans  off 1. ccsentricity

X 2. eclipse
x 3. echelon

X 4. economy

Question ID : 864407864
Status : Answered
Chosen Option : 1

Q.48 Select the most appropriate word to fill in the blank.

These apples
Ans ( 1. cost
x 2. is costing
x 3. has cost
x 4. costs

Rs.100 per kg. Do you think they are expensive?

Question ID : 864407834
Status : Answered
Chosen Option : 3

Q.49 lIdentify the segment in the sentence which contains the grammatical error. If there is no
error, select 'No error'

The letter was posting yesterday by my brother.
Ans X" 1.by my brother

X 2. The letter

« 3. was posting yesterday

X 4. No error

Question ID : 864407823
Status : Answered
Chosen Option: 3

Q.50 In the sentence identify the segment which contains the grammatical error.

Saurav Ganguly have emerged as the new President of the BCCI after a night long
discussion.

Ans ( 1. Saurav Ganguly have emerged
x 2. as the new President
/X 3. of the BCCI

x 4. after a night long discussion

Question ID : 864407826
Status : Answered
Chosen Option: 1
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